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// BMIEDOAA T a7 T 5 E heurl (), heur2()

#include<stdio. h>
ftdefine MAX 1000

int d[MAX], dd[MAX], f[MAX];

int n, m;

void heurl(char *pat)
{ int i;
for (i=1; i <= MAX; i++) d[i]=m;
for (i=1; i <= m; i++) d[patl[i]]=m-i;

// for (i=1; i<=256; i++) printf("d[%d]=%d, 7, 1i,d[i]);
// printf("¥n”);

void heur2(char *pat)
{  int j,k t,w;
for (k=1; k <= m; k++) dd[k]=2*m—k;
j=m; t=mt+l;
while (j > 0) {
flil =t
while (t <= m & pat[j] != patl[t]) {
if (dd[t] > (w=m—j)) dd[t]=w;
t=f[t];
}
i ot
}
for (k=1; k <= m; k++) {
if (dd[k] > (w=mt+t-k)) dd[k]=w;
if (k >=t) t=f[t];

// for (w=1; w<=m; w++) printf(“heur2: dd[%d]=%d¥n”,w, dd[w]);
// printf("¥n¥n”);
}



int bm(char *text, char *pat)

{ int j, k;
k=m;
while (k <= n) {
j=m;
while (j > 0 & pat[j] == text[k]) {j—; k—;}
if (j == 0) return k+l; /% BERKE) */
else {

if (d[text[k]] > dd[j]) k=k+d[text[k]];
else k=k+dd[j];

}
}
return —1; /¥ BREIAL =/
}
main ()
{ int i;

char *text = 7 ABABABBABABAABA”, *pat = ” BABAABA”;
n=15 m=7;

printf ("¥ntext=");

for (i=0; i<=n+1l; i++) printf(” %c”, text[i]);
printf ("¥npat= ") ;

for (i=0; i<=m+l; i++) printf(” %c”, pat[il]);
printf ("¥n¥n”) ;

heurl (pat) ;

heur2 (pat) ;

i = bm(text, pat);

if (i 1= -1) printf ("¥nFound at %d¥n”, i) ;
else printf ("¥nNot found. ¥n”);



